
0

0

HPBW(vdb(out),3)MC 100 vdb(out)
ac sweep 10 100meg 100

out

Bandwidth(vdb(out),3)

0

LPBW(vdb(out),3)

RE
2.4k
1%

C3 10u

50%C2

10u
50%

Goal Functions

R1
30k
1%

V
D

B

RC
5k
1%R2

90k
1%

bf dev/uniform 80%

C1
100u
50%

Vcc

12

V1

FREQ = 1k
VAMPL = 10m
VOFF = 0

AC = 1

RP
5k
1%Q1

Q2N2222

 
Performance Analysis – Amplifier Frequency Response 

 

0

out

.model MyNMOS NMOS vto=0.7 dev/gauss 20% kp=100u dev/gauss 20% lambda=0.04

C1

10pV2

TD = 100n

TF = 1n
PW = 500n
PER = 1u

V1 = 0

TR = 1n

V2 = 3

0

M1
My PMOS
W = 10u
L = 1u VDD

3
M2
My NMOS
W = 5u
L = 1u

V

0

Risetime(V(OUT))

0

Falltime(V(OUT))
Goal Functions

tran 1.2u MC 100 Ymax

.model MyPMOS PMOS vto=-0.7 dev/gauss 20% kp=50u dev/gauss 20% lambda=0.05

 
Performance Analysis - Inverter Switching Speed 

 

V1T1 = 0
T2 = 1m
T3 = 1.01m

V1 = 0
V2 = 1
V3 = 0

V

f_0=output f at v1=0

E1

EXPR = sin(6.283*(f _0+n*f _chan*V(%IN+, %IN-))*time)

EVALUE

OUT+
OUT-

IN+
IN-

0

f_chan=channel spacing

tran 2m

R1

1k

PARAM ET ERS:
f _0 = 10k
n = 20
f _chan = 1k

n=channel counter

V

 
Voltage-Controlled Oscillator (VCO) 


